3M0Y &30013IOL IFM3IBIT0
LY3IBENIHM BMBEN

SHOTA RUSTAVELI NATIONAL
SCIENCE FOUNDATION

;s Orliosggeols gomgbmero Lsdgboghem gmboo

dom@myool 25-9 Lsg@msdm@olm

m@0d30sobmgol boJos®mggaml bsimgdo
29bwol (936960l dgbodhggo

I @9®ol
LY m&o 3slgbgdo



Nel.

N2

Ne3

Ne4

NeS

Ne6

N7

Neg8

0.25*4=1g5eo0s

AXOIRId0

do@mJmbpdombols
>@Lgdmds

B96d309d0

139@53Gmbmowgdo

@9bo 3bodmgsbo gx@gogdo Vv

FVoogmo 39bmmgsbo dmggmgdo Vv

bofaogol g3omgmomizodgdo _

0.25*4=1]meos

300mdd

AXOIRoL dgo

0.25*4=1]meos

0.2%5=1]zg0

iii iv v

X X

0.1¥10=1g=g0s

1 2 3

10

G H B

0.125*8=1

A B

6 4

12 11 17

14




N9

Ne10

Nell

Nel2

Nel3

Nel4

0.25*4=1gze0s

a b

Vv X

0.1¥10 =1gmems

1 2

E A

025%4=1gzens
_A >

0.25*4=1]meos

_Db__>___

0.2%5=1]mg0s

3bmggmgdo

OOSY Y0

30dm@hbsgens

bgenogo

69dbogers30s

37 bolbads@mgns
boli@gds

X

v

v

babgbogdo
Bolgas

b

b

d




N5 0.25%4=1gmemo

ad3mygmgogo 6g@fygo /ey (wod®o) | <0.75 | 0.75-1.5 10-12 130-180
3bmggeo a d b c
Nel6  0.25%4=1Jxa0s
SE0 900 gLggmsmgdyos
a v X
c v v
d v X
Nel7  0.25*4=1Jga0s Nel8  0.25%4=1J=xe0s
A B C D | Il ]| v
| Il ]| v d a b (o

Ne19  025%4=1gmemo

L3L bgps3o@ol Bos@mmdo / dmeosbo Lbgymols

bges3060056
0.6:1 1.2:1 2:1 3:1
a b c d
N=20 ld'g]gmo Ne21 0.5*2=ld'g]gmo
b

c 2 0 > 45° b
Ne22 0.2*5=1(-]'g];mo

a b c d e

Vv X X Vv Vv
Ne23 1 Jyeos Ne24 1 oy

3 .




Ne25  02*5=1g5eos
a b c d e
V' X X X v
Ne26  0.2*5=13ge0s
a b C d e
X X v X V'
Ne27  1Jgeos
308mbogm@o | 3gBgembogm@o | ggmg®do @Godo
% 25 50 25
Ne28  0.5x2=1gaos
dmdmbogm@o | 3gBghmbogm@o | 3mdmbogym@o
©md0bsbGo @ 3939boge0
ber@dse o X X Vv
39393960 X ' X
Ne29 1 Jogeos Ne30 1 Jogaoos

Jobosgmebgao g@sjaos =_2/3__. Jnlbogmebgaro g@sjaos=__1/12__.

Ne3l  0.5%2=1Jyans
B053m3sgem 930l ggs@egds (0sbsdboligg@o
VYR gds d73569L0056)
3:1 9:7 15:1 1:7 1:1
i ChsA chsA ChsJ chsJ C1C1 x X v X X X
) ChsA chsA ChsJ chsJ C1C1
i ChsA chsA ChsJ chsJ C1c1 x X X X v X
’ chsA chsA chsJ chsJ c1cl
Ne32  1Jgaos
a b c




N33 0.5%2=Ignes

§@3d5@gd0 Tyr Asp Arg
Bsbommlsbo Leu Stop Pro
0nbabgeos Leu Pro Ala
Ne3dd4  0.5%2=1Jxes
a b
v v
Ne35  0.2*5=1Ja0s
a b c d
v v v v
Ne36  0.125%8=1J9ans
a b c d
v X X v v
Ne37  13gaos
— Al
Ne38 10
—f
Ne39 1Jgans
—e_
Ne40 1Jxe0s

b




